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Average of 7 consecutive odd number is
31. If the previous and next odd number
are also included then what will be the
new average.
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If the average of 4 numbers a,b,c and d
is &, then find the average of a, b, c, d

and 95
2

Ife arR g&IR a,b,c,d T AT A & i

A
a,b,c,d%ﬁaﬁ'ﬂﬁmm?

A
(@) 5 (b) 2A

11A
10

®

SA
(c) )



@ The average of S consecutive integers

a ) QA42=1n starting with a is n. what is the average

TN\ o=w2 °f 6 consecutive integers starting with
(a+2)?
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The average of x numbers is 3x. If (x-1)
is subtracted from each given number.
What will be the new average.
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94 (x-1) ST WC d =47 3tad 1 B0
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New = M (a) x + 3 (b) 2x - 3
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Find average of

1,@3&9, '4,4,3,.000000.
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Find the average of cubes of first 7
natural numbes.
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(a) 28 A 112

(c) 124 (d) 136
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Find average 13+23+33+.....1003
3ad STd BNl 13+23+33+,....1003
(a) 245025 5] 255025
(c) 265025 (d) 250025
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Gaurav was asked to find the average of
N consecutive numbers starting from l

'Yl(m‘)_.-@\—] 69§ — ')LBY mistake he forget a number. As a
Q l-:}'_ fw_qh%a wrong average of
7
: 34 -, So which nufaber he forget?
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A cricket player scored certain ru$¥ in
his 23 innings. He scored 225 runs
together in 24th and 25th innings and
average increase by 3 runs. Find average
of 23 innings.

e Raardl 23 kAl & 8 W 96T @
Aol 24dY 3k 2541 Ul ¥ Hd 225
g1 IR 3tad H 3 ¥ #1 qfg gt @ 23d)

156 3% ot wr.alee vt
- -3 uﬂ)% (b) 52
'5:5_“ (c) 60 (d) 74



A cricketer scored certain runs in his 20

innings. He scored 300 runs together in

21st and 2207 jinnings. wyoua average

increase by 2 runs. Findhaverage of 201',
QIS"and 2204 jnnings.
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A student finds that average of ten 2
digit numbers. While copying numbers
by mistake he writes one number with
its digits interchanged. As a result his
answer isless than the correct
answer. The different of the digit of the
number in which he made the mistake
is.
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A student calculated the average of 10,

three digit numbers. But due to mistake

he reversed the digit of a number and
those his average increased by 19.8.

2{ find the difference between the unit
(')(—Z-) = % digit and hundred digit of that numbers.
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The average of x occurring S times and

7 X 5})\']'4‘4 '.‘.%".‘[-}(IQ— y occurring 7 times is 37. Also, the

average of x occurring 7 times and y

5’ X ‘:I’X-l- Sl‘j-_-_ 35>qz_ occurring 5 times is 35. The value of y

is:
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A. B and C are three positive numbers

C f A ﬂ-{— 2 B: 2’} such that the average of three-fifth of A
“v :F[ and 30% of B is 13.5, and the average of
3

E times of B and 25% of C is 15. If A is

equal to % times of C, then the sum of

- all three numbers A, B and C is:
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A,B, C and D are four positive numbers

such that A is %times of B, B is %

times of C, and C is %times of D. If the

average of 4 times of A and 7 times of D
is 316, then the average of all the four
numbers A, B, C and D is:

A, B, C 3R D IR gIcHd G&IIU 2 o
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The average of all the prime and
composite number upto 100 is.
100 d& Ul TSI AR WHST G&T FI

ad @
451 (b) 50
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O years ago, the average age of a family

of five members was 33 years. Now,

three new members join whose ages are

‘);d_ NHR t Nt = g'(f in ascending order with consecutive

N— gaps of 8 years. If the present average

AU="30 age of the family is the same as it was 9

%= (o years ago, what is the age (in years) of
the eldest new member?
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A person was asked to guesses his own
weight. He estimated his weight to be
over 70 kg but less than 80 kg. His
friend estimated his weight to be more
than 74 kg but less than 84 kg. His
mother said that his weight is less than
78 kg. Assuming that the weight are a
whole number and that three had
correctly guessed, then what is the
average of the possible weights?
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I 74 fHUT 4 A0S dfd 84 feur 4@
&Y AT SUB! HAl |4 del fo SudT aod
78 f&UT 4 &9 € ¥ wid g & a9 1@
qoid @ 3R il 9 |& g aman 4r al
T aorl &1 Jtd feaar 87

(a) 76.5 kg \JHI'76 kg
(c) 77 kg (d) 75 kg
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The average of a, b, and ¢ is 11 the

average of ¢, d and e is 17 average of e
and f is 22 and average of e and c is 17.
What will be the average of a, b, c, d, e,
and f.
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(a) 96
e 93

Several students have taken an exam.

There was an error in the answer key
which affected the marks of 48

students, and their average marks
reduced from 78 to 66. The average of

remaining students increased by 3.5
marks. This resulted the reduction of
the average of all students by 4.5 marks.
The number of students that attended

theexamis%&ﬁ_ﬂ&
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/& Theﬁ‘gée’ of board of directors of a
ﬁw company having 10 directors was 48
year. When a directors aged 53 resigned

\{80—(:53{-1)+3l{ from the board another directors died
on the same day. So a new director

joined the board whose age is 34. Next
year in the same month the average age

lmﬂ@ - of all the 9 directors was found 46

_ X9 years. o was dead
1Bo-B- 24 - 6xq s |
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46 98 Uiz T3 dl 99 QNS @ SW G
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56 years (b) 53 years

(c) 57 years (d) 61 years
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(a) 21 years
(c) 23 years

Ten years ago, the ages of the members
of a joint family of eight people added
up to 231 years. Three years later, one
member died at the age of 60 years and
a child was born during the same year.
After another three years, one more
ember died, again at 60, and a child
y7as born during the same year. The
current average age of this eight-
member joint family is nearest to
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_H w©—) L( Mr. Jeetu’s family consists of six
E}HQ-;J; eople, himself, his wife and their four
HW C CL(?.""’ 3‘0

chlldren It was found that the average
e of the family immediately after the
irth of the first, second, third and

|° z‘égurth child was 16, 15, 16 and 15 years
spectively. Find the age of Mr. Jeetu’s

D-':S

"1 W C, CZ. C‘;C.“._, ‘70 eldest son. If the present average age of
'é /’ the entire family is 16 years.
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(a) 30 years

I was born 30 years after my father. My
sister was born 25 years after my
mother. The average age of my family is
26.25 years right now. My sister will get
married 4 years from now and she will
leave the family. Then the average age

of the family will be ]'OTT years. Then

my father is age right now is.

R o R 4d1 & &1 & 30 9l 915 831
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Average of 20 natural Number is 36. Ist
number is increased by 1, 27d by 2 and
3d by 3 and so on then find new
average.

20 YThd IR &7 3AAd 36 & YU GE&AT
dl 19 qe1 fear oy gad 9= & 2 9
IR dRR & 3 ¥ 3R &I @ M a -3
itwa g

(a) 46 51 46.5

(c) 45.5 (d) 47



Average of 25 natural number is 67. Ist

e %
[ 3 5?‘1“1‘315;“"“’“ is infreased by 1, 27d by 3, and

17~ )¢ Q|@

rd by S and 4o on find the new average.
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(b) 93 'l

(d) 74.76
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